IKOALZ#0O7
FREALTAO7 |LEcirin kWAL AN P

je———>]

| — < < e
- -
| Gi
/ Lea : / o
R=500 B B2 R=500 B B>
Bl Bi
T CF---BR CF---BR
[XQ/ NS Somm] 2AFYREd; 3~10mm AFYREd; 12~30mm
FUES =
“ (5%)
ATvlE Y— )l KR oy
mm |  mEsE | RS IRE MRS g |P|C¢ |4 E
3 |CF 3 BR/CF 3 B/CF 3 BUUR|CF 3 BUU 4310 7| 3 /M 3X0.5
4 |CF 4 BR|CF 4 B|/CF 4 BUUR|CF 4 BUU 74112 | 8| 4 |M 4X0.7
5 |CF 5 BR/CF 5 B/CF 5 BUUR|CF 5 BUU 10.3/13| 9| 5 |M 5X0.8
6 |[CF 6 BR/CF 6 B/CF 6 BUUR|/CF 6 BUU 18516 | 11| 6 |M 6X1
8 |CF 8 BR/CF 8 B/CF 8 BUUR|CF 8 BUU 28519 11| 8 |M 8X1.25
10 CF10 BR CF10 B | CF10 BUUR CF10 BUU 45 22|12 |10 M10X1.25
CF10-1 BR| CF10-1 B |CF 10-1 BUUR |CF 10-1 BUU 60 | 26|12 |10 [M10X1.25
12 CF12 BR /CF12 B|CF12 BUUR|CF12 BUU 95 | 30|14 |12 |M12X1.5

CF 12-1 BR| CF 12-1 B |CF 12-1 BUUR |CF 12-1 BUU| 105 |32 | 14 | 12 |M12X15
16 |CF16 BR CF16 B CF16 BUUR CF16 BUU| 170 |35 18|16 M16X1.5
18 |(CF18 BR CF18 B | CF18 BUUR|CF18 BUU| 250 |40 |20 | 18 M18X1.5

20 CF20 BR/CF20 B|CF20 BUUR CF20 BUU| 460 |52 |24 |20 M20X1.5
CF 20-1 BR | CF 20-1 B |CF 20-1 BUUR | CF 20-1 BUU| 385 |47 | 24|20 M20X1.5

CF24 BR|CF24 B |CF24 BUUR CF24 BUU| 815 |62 | 29|24 M24X15
CF 24-1 BR | CF 24-1 B |CF 24-1 BUUR | CF24-1BUU 1140 |72 29 24 M24X15

CF30 BR|CF30 B|CF30 BUUR CF30 BUU 1870 |80 35|30 M30X1.5
30 [CF 30-1 BR | CF 30-1 B | CF 30-1 BUUR | CF 30-1 BUU|2030 |85 | 35|30 |[M30X1.5
CF 30-2 BR | CF 30-2 B |CF 30-2 BUUR |CF 30-2 BUU |2220 |90 | 35 | 30 |M30X1.5

24

F()  EHEEr ORIGFEYIETT,
@E1. XYY FEd Dammll RS D T e AT Y RNE d) HB5mmBLE10mmEI N IEESITHIN (FGRET>9) B
HOFT, TOMIE, X5 ROBESICITHIN (FU—XZwTIL) hidpD. NEROIREICEHANDSDIT,
2. Y—)UREDRY v RE d BMOmmE ROV —)VEIET U —RZHALTVWE T, ZDfblE. TU—XZHALT
WEEBADT., BIEEERZ U TTERALIESL,

336





